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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet,

Mrs. Harding hersclf was thin and frail but her son was a sixteen-year-old.
1) unbearable 2) verbose 3) sturdy 4) lethargic
Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate
The of coffee brought Christine into the small cafe.

1) aroma 2) fragility 3) whim 4) badge

The client our proposal because they found our presentation banal and
unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected
Immediately overcome by for the wrong he had done, I lowered him to the floor
and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

A health inspector gave instructions on how to correct the problem; we all found
out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

| the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.

1) vanished 2 )squandered 3) forestalled 4) penetrated

Why would Ian want to claim his inheritance and then give all his money away? It was a
to me.

1) riddle 2) peril 3) glory 4) fragment

He was later accused of writing loan and deposit records, found guilty and

sentenced to three years of imprisonment.

1) essential 2) fraudulent 3) vulgar 4) witty

The question of how the murderer had gained entry to the house the police for

several weeks,

1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark your answer sheet.

Scuba divingis a form of underwater diving in which a diver uses a self-contained

underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving. (11) rely either on breath-hold or on air pumped from
the surface, scuba divers carry their own source of breathing gas, (usually compressed air),
(12) _ greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit. in which
exhaled gas (13) the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide. and (15) replenished from a supply of feed gas
before being re-breathed.

1) that 2) on which they 3) which 4) they

1) allowing them 2) they allow 3) allowed them 4) 1o allow

1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted
1) where the gas breathing 2) which breathes the gas

3) the breathing gas which 4) in which the breathing gas

1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen
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Directions: Read the following three passages and choose the best choice (1), (2), (3), or

(4) that best answers each questions. Then mark your answer sheet on your answer sheet.

Passage 1:

A photodiode has a depleted semiconductor region with a high electric field that serves to
separate photogenerated electron-hole pairs. For high-speed operation, the depletion region
must be kept thin to reduce the transit time. On the other hand. to increase the quantum
efficiency (the number of electron-hole pairs generated per incident photon), the depletion
layer must be sufTiciently thick to allow a large fraction of the incident light to be absorbed.
Thus there is a trade-off between the speed of response and quantum efficiency.

The photodiode can be operated in a photovoltaic mode, that is, the photodiode is unbiased
and connected to a load impedance similar to a solar cell (refer to Chapter 14). However, the
device designs are fundamentally different. For a photodiode only a narrow wavelength range
centered at the optical signal wavelength is important, whereas for a solar cell, high spectral
responses over a broad solar wavelength range are required. Photodiodes are small to minimize

junction capacitance, while solar cells are large-area devices. One of the most important figures

of merit for photodiodes is the quantum efficiency. whereas the main concern for solar cells is
the power conversion efficiency (power delivered to the load per incident solar energy).
What is the purpose of a depleted semiconductor region in a photodiode?

1) To reduce the light emission

2) To generate electron-hole pairs

3) To improve the light output

4) To separate the photo generated electron-hole pair

Why should the depletion layer be kept thin?

1) To reduce the transit time 2) To decrease the electric field

3) To reduce the light efficiency 4) To increase the transit time

Why should the depletion layer be kept thick?

1) To reduce the high electric field

2) To increase the transit time

3) To decrease the transit time

4) To allow a large fraction of the incident light to be absorbed

What signal wavelength is important for photodiode?

1) Mid-band frequencies are required.,

2) A wide range of wavelength is required.

3) Only a narrow wavelength is required.

4) The range of signal wavelength is not important.

What is the main important merit of photodiodes?

1) It is the hole efficiency. 2) It is the power conversion efficiency.
3) It is the quantum efficiency. 4) It is the power delivered to the load.
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Passage 2:

In thin-film solar cells, the active semiconductor layers are polycrystalline or disordered films
that have been deposited or formed on electrically active or passive substrates, such as glass,
plastic ceramic, metal, graphite. or metallurgical silicon. A thin film of CdS. Si. GaAs, InP
(CdTe, and so on, can be deposited onto the substrate by various methods such as vapor growth,
evaporation plasma, and plating, If the semiconductor thickness is larger than the inverse of the
absorption coefficient. most light will be absorbed: if the diffusion length is larger than the film
thickness. most photogene rated carriers can be collected.

The main advantage of thin-film solar cells is their promise of low cost, due to low-cost
processing. and the use of relatively low cost materials. The main disadvantages are low
efficiency and long-term instability. The low efficiency is partly caused by the grain boundary
effect and partly caused by the poor quality of the semiconductor material grown on foreign
substrates. The stability problem is caused by the chemical reaction of the semiconductor with
ambient (such as O, and water vapor). Steps must be taken to ensure device reliability.

What method is used to deposit thin films?

1) Diffusion and spinning 2) Evaporation plasma and plating
3) Metallization and ion implantation 4) Chemical vapor deposition and heat
treatment

For the photo generated carriers to be collected what should the thickness of the film be?
1) The film thickness must be very large.

2) The film thickness must be larger than the inverse of the absorption coefficient.
3) The film thickness must be larger than the diftfusion length.

4) The film thickness must be very small.

What is the main advantage of thin-film solar celis?

1) It is the low cost.

2) It is the high efficiency.

3) It is the low temperature operation of these devices.

4) It is the thickness of these devices.

What is the main disadvantage of thin-film solar cells?

1) It is the low efficiency .

2) It is the high operating temperature.

3) It is the difficulty of finding the thin film material.

4) It is the high price of manufacturing.

What is the main reason of the instability of these devices?

1) It is the crystal structure of these devices.

2) It is the chemical reaction of the semiconductor with ambient.

3) It is the traps positions in the bandgap.

4) It is the poor contacts.
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Passage 3:

Injection lasers degrade by a variety of mechanisms. The three main mechanisms are (1)
catastrophic degradation, (2) dark-line defect formation, and (3) gradual degradation.

For catastrophic degradation, the laser mirror under high-power operation is permanently
damaged by pits or grooves forming on the mirror. Modifications of the device structures that
reduce surface recombination and absorption increase the power possible at the damage limit.

The dark-line defect is a network of dislocations that can form during laser operation, and it
intrudes upon the optical cavity. Once started, it can grow expansively in a few hours, causing
the threshold current density to increase. To reduce the probability of dark-line defect
formation, quality epitaxial layers grown on substrates with low dislocation density should be
used, and the laser should be carefully bonded to the heat sink to minimize strain,

By excluding instantaneous catastrophic failure and the fairly rapid degradation caused by
dark-line defect formation. DH lasers have a long operating life with relatively slow

degradation.

What happens in the catastrophic degradation?

1) The laser mirror is deflected. 2) The laser hetrojunction structure is damaged.
3) Generation efficiency is degraded. 4) The laser mirror is perinanently damaged.
What modifications will improve the catastrophic degradation limit?

1) The device voltage is reduced. 2) The device structures are improved.

3) The current requirement is increased. 4) The semiconduictor material is changed.

How can dark-line defects be improved?

1) By using quality epitaxial layers

2) The heat sink should not be used with the laser

3) The device must be operated in a dark room

4) Ton implantation must be used

How can DH lasers have a slower degradation?

1) By improving the annealing process

2) By including instantaneous catastrophic failure and gradual degradation
3) By excluding instantaneous catastrophic failure and dark-line defects
4) By using a different hetro-junction structure

What is the dark-line defect?

1) It is the increase in the threshold current density.

2) It is the actual dark lines created in the cavity.

3) It is the generation of traps inside the cavity.

4) It is a network of dislocations which intrudes upon the optical cavity.
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